Answer on Question # 43804, Engineering, SolidWorks | CosmoWorks | Ansys

. 1
Task: cos® o —sin® o = 7508 2a - (3+cos 4ar)
Solution:
cos® a —sin® a = (cos* a —sin* ar)(cos* a +sin* @)

cos* o +sin* a = (cos® a)? + (sin” a)® + 2sin* acos” a — 2sin® e cos’ a =

= (cos® ar +sin® a)® —25in2acoszazl—ZSinzacosza:1—Sin222a;

cos* o —sin* & = (cos® a —sin® a)(cos® a +sin® @) = cos 2o =

cosaa—sinsa:c052a(1—8in22a)

1_sin2 2a =4(l_ 2sin® Za) =4(4—23in2 Za) _ 3+1-2sin’ 2 _ 3+cosda
2 4 16 16 4 4

cosaa—sinSa:00520:-@=%0052a-(3+cos4a)

So, equality is proved.
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